ENGLISH TEST N°3 / YEAR 8

I) Let's compare an orange and a granola bar ! /5

=» Put the adjectives into comparative forms (> : superiority <: inferiority =: equality)

1) AR OPOIIR N s a granola bar. ( healthy »>)

2) A gromolabar 8 s an orange ( messy <)

3) AN orange is ..........ccceeeressesersersesennenenne. @ granola bar. ( delicious =)

A) Eating 6 GrantIa baR IS ouenswmieeimssimsmms eating an orange. (convenient > )

5) A granola Bar iS ... OGN 0FaNgE. ( Natural < )

II) Let's compare a car and and a bicycle ! /5

=> Put the adjectives into comparative forms (> : superiority <: inferiority =: equality)

1) A CArisS oo a bicycle. ( fast>)

2) Driving @ CAr iS ...ocovcieeeiieeeicsieiscienieseiesse s riding a bicycle. ( healthy <)
3) A CAP S et ebnes a bicycle. ( expensive >)

SR TIPS s s e RS G riding a bike.

( environmentally friendly <)

Bl RIAING A BIKR I8 vninmunanimmseg driving a car. ( easy > )



